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 निन्लिनित शब्दो के उत्तर नििो | 
(1) उपसर्ग ककसे कहते ह ै? दो उदहारण दकेर समझाए | 
(2)  किया के साथ प्रयोर् ककए जािे वािे प्रत्यय क्या कहिाते ह ै? 

(3)  इि प्रत्ययो स ेबन्ने वािे दो दो शब्द नििो | 
 आई, आि, इस, बाज, ई  

(4)  समास नवग्रह से आप क्या समझते ह ै? 

(5)  समस्त पद के पहिे पद और दसुरे पद को क्या कहा जाता ह ै? 

(6)  बहुनप्रही समास का कोई एक उदहारण नििो | 
(7)  कदए र्ए समस्त पदों का नवग्रह करके समास का िम नििो  

 महात्मा, िवरात्र, कमिियि, दशेभनि,  
(8)  समास के सभी भेदो को पररभाषा सनहत नििो | 
(9)  संज्ञा ककसे कहते ह ै? 

(10) जानतवाचक संज्ञा की पररभाषा नििो | 
(11) संज्ञा के भेदो के सामिे नति नति शब्द नििो | 

   व्यनिवाचक, जानतवाचक, भाववाचक  
(12) निम्ननिनित शब्दो में से भाववाचक संज्ञाए छाटो | 

  हररयािी, र्रमी, नहमािय, सरदी, भाषण, नििाई, र्ंर्ा    
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1. Write in standard form.    (a) .0035701 (b) 3125 

2. Write in expanded form.  (a)  2789701         (b) 378303 

3. Evaluate : 

(a) 8 x 104 + 8 x 103 + 8 x 102 + 8 x 101 + 8 x 100 

(b) (2−1  ×  3−2)−1  

4. Find 𝑥 if : (a) 116 ÷  114−𝑥 = 118        (b) (−3)𝑥−2 = -243 

5. If 4𝑥 = 64, then find the value of 122𝑥−6  

6. Simplify. 

(a)  35×105 ×2557  × 65      (b) (43)2 x (23)3 x 
14 

7. Which is greater? (a) 312 or 66  (b) 29 or 82  

8. Find the value of: (a) (−3)5   (b) –(4)4 

9. Express each of the following as a product of powers of their prime factors. 

(a)  9000 (b) 2025       (c) 800 

10. A bacteria multiplies at the rate of 875 × 105 per second. How many 

         bacteria will be there after 1 minute 20 seconds. 

11. Identify the like terms of the following. 

5𝑥2𝑦, 3 𝑦2𝑥, -11𝑥2, 12𝑦2, 4𝑥2𝑦2, -2𝑥2𝑦, 8𝑦3, -7𝑥𝑦, 4𝑦3𝑥, 6𝑥2𝑦, 4𝑥2, 3𝑦5 

12. What should be added to 3𝑥2 - 5𝑥𝑦 + 𝑦2 to obtain 𝑥2 + 2𝑥𝑦? 

13. Subtract (3𝑥 – 2y + 4z ) from the sum of (2𝑥 − 𝑦 + 2𝑧) and (7𝑥 + 𝑦 − 3𝑧). 

14. If p = -3, find the value of -2𝑝3 +  3𝑝2 − 5𝑝 + 6. 

15. Simplify the following expressions and find the value when a = -2. 

(a) 3(4a - 3) + 2(5a - 4) 

(b) 2(5 - 3a) + 3a - 6 
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                                              [ History] 

Q.1. Answer in very short. 

   (a) What was Tribe? 

    (b) Define Tunda. 

    (c)What do you mean by Bhakti?  

. 

 Q.2.Answer in short. 

   (a) How did tribes make a living? 

   (b) Caste-based and tribal societies were interdependent. Discuss. 

   (c) Mention the teaching of Shankarachaya. 

   (d) What was the attitude of Virashaivas towards caste? 

  Q.3. Long answer. 

   (a) How were the Banjaras important for the economy? 

   (b) What were the main principles of Bhakti Movement? 

 

                                               [Civics] 

Q.1.Very Short answer. 

  (a) Define advertising. 

  (b) What is the aim of social advertising? 

 (c) What is the effect of stereotypes on our society or country? 

 (d) What do you mean by gender?. 

Q.2.Short answer. 

   (a) How does a society create stereotypes? Explain.? 

   (b) What are the objectives of advertising?. 

                                                     [Geography] 

 Q.1.Draw, label  and explain the types of Rainfall, 

 Q.2. Draw and explain the Water cycle. 
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Q.1. Very short answer type question. 

(a) State true or false:– 

    (i)Use of bleaching powder kills the germs present in water.  

    (ii) Water table remains uniform at every place. 

(b) What kind of image is formed by Cancave lens?   

(c) Which animal respires through its body surface. 

(d) Which part of plant is used for the process of photosynthesis?  

Q.2.Short answer type question.  

(a) Explain sprinkle method of irrigation. 

(b) Why one is not advised to sleep under a tree during night. 

(c) Why does a larmeric stain turn red when washed with soap? 

(d) Explain the structure of electric bell and it’s working with the help of diagram. 

(e) Explain septic tank with help of diagram. 

(f) Explain the team groundwater and water table. 

(g) Explain the structure and function of Human excretory system. 

Q.3.Long answers type questions. 

(a) Describe different layers in forest.     

(b) Differentiate between Acid and Bases.   

(c) Explain how will decide which object is moving fast and which one is moving 

slow. 

(d) What type of mirror is used as a side mirror in a scooter? Why is this type of 

mirror chosen? 

(e) Explain the structure of flower with its whorls.                                                                       

 

 



    .        Golden  Days Universal School, Ozar 

                    Assignment-III (Session 2020-21) 

                 Class:  7
th

                        Subject: English. 

 

Q1) Write whether the sentence is ‘simple’ , ‘compound’ or ‘complex’. 
(I) He set out on his journey early in the morning.    ___________ 

(II) I missed the surprise ending because I left the play early.  ___________ 

(III) He shut down the computer after the teacher had left.  ___________ 

(IV) She came and saw what was going on.  __________ 

(V) The game was postponed because it began to rain.  ___________ 

(VI) He walked fast but couldn’t catch the train.  __________ 

(VII) Do you want to go now or would you go later?  ___________ 

(VIII) They lost their way in the jungle.  __________ 

(IX) She slapped him on the face.  __________ 

(X) This house is theirs. ___________ 

Q2) Encircle the demonstrative pronouns in the following sentences. 

(I) This is his pen. But that is mine. 

(II) This house is hers. But that is theirs. 

(III) This is my sister. Those are her dogs. 

(IV) These baskets contains apples. But those are empty. 

(V) This is what he told me. 

Q3) Rewrite the sentences using the verbs given in brackets in the past progressive 

form. 

(I) The not (study) at that time. 

(II) It was (rain) at this time yesterday. 

(III) The maid servant (wash) the clothes. 

(IV) He (swim) in the pond at 8 a.m. 

(V) While I (do) my work, she (cooking). 

(VI) When I reached there, he (sleep). 

 


